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General Instructions:

I. Question paper comprises six Sections — A, B, C, D, E and F. There are 37 questions in the
question paper. All questions are compulsory.

ii. Section A — Question no. 1 to 20 are Multiple Choice Questions of 1 mark each.

iii. Section B — Question no. 21 to 24 are Very Short Answer Type Questions, carrying 2 marks
each. Answer to each question should not exceed 40 words.

iv. Section C — Question no. 25 to 29 are Short Answer Type Questions, carrying 3 marks each.
Answer to each question should not exceed 80 words.

v. Section D — Question no. 30 to 33 are Long Answer Type Questions, carrying 5 marks each.
Answer to each question should not exceed 120 words.

vi. Section E — Question no. 34 to 36 are Case Based Questions with three sub questions and are of 4
marks each.

vii. Section F — Question no. 37 is map based, carrying 5 marks with two parts, 37a from History (2
marks) and 37b from Geography (3 marks).

viii. There is no overall choice in the question paper. However, an internal choice has been provided
in few questions. Only one of the choices in such questions have to be attempted.

viii. In addition to this, separate instructions are given with each section and question, wherever
necessary.

AT e -

i. U%T U9 H O WS AMAA ¢ - T, o, @1, 31, § 3R vw| weeT a3 &7 37 uA &1 el
gt 3feary g1

ii. TS U - UReT FEAT 1 @ 20 a&56 ThR & TR g, ToleTdl Ycdeh e 1 3ieh 7 g
iii. @3 o - geeT FEAr 21 @ 24 33fq 7 39T 9T 8, Tchh e 2 3Hh HT gl Tedh
9T T 3R 40 Usel A 3k AgT glAT ARV

iii. @S AT - 9o HEAT 25 F 29 o 3T T 8, Ucdh U 3 37h & g1 Ycdeh el
& 3aX 80 Usel A 3% AT gl =RU|

v. T3 3 - 9T F&AT 30 ¥ 33 & 398 U §, Tcddh U 5 3 & g1 IcAh UL
& 3% 120 sl A 31w A g aiRu|

iv. T8 3 - 9T TEAT 34 ¥ 36 TId MR T g, Tcdeh 9 & died HET gl Tedeh
T & 4 37 L

Vi. @S U - YT J&AT 37 AT IR &, SiF 5 37 &7 g, 37 37 e & (2 3&)
3T 37 & o@ler & (3 31F) & F
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Section A: MCQs (1X20=20)

Arrange the following in the correct sequence.

(1) Unification of Germany (i) Unification of Italy

(iii)Greek struggle for independence began (iv) Fall of Napoleon

(a) (iv)-(iii)-(ii)-(i) (b) (ii)-(iv)-(iii)-(i)

() (iii)-(iv)-(ii)-(i) (d) ()-(iii)-(i1)-(iv)
fArAfaf@a &1 T8 w7 7 cgafeyd +|

(i) ST3=AT ST ThIHIOT (i) STl T TehThOT

(iii) Tac=ar & fow dier da¥ Y& g3 (iv) ANTIFA I Ielel

(@) (iv)-(iii)-(ii)-(i) (b) (ii)-(iv)-(iii)-(i)

(¢ (iiD)-(iv)-(iD)-(i) (d) (D)-(iii)-(iD)-(iv)

Under the presidency of Jawaharlal Nehru, the Lahore Congress formalised the demand

of “Purna Swara;j” of full independence for India in
(a) December 1929 (b) January 1929
(c)December 1930 (d) December 1928

STATEellel Sig® shi EIETAT H AN FIH o AR & foIv qul Fadaar dr “qur
TR FT AT A garRe T Fa GJr a1?

(a) feaax 1929 (b) ST=Tadr 1929

(c) fewsx 1930 (d) eEsY 1928

Study the picture and answer the question that follows:
&y & reays # AR Aeafaf@d g & g

i

Identify the two leaders with Mahatma Gandhi.
(a) Maulana Azad and Bal Gangadhar Tilak
(b) Nehru and Jinnah
(c) Shaukat Ali and Gopal Krishna Gokhale
(d) Jawaharlal Nehru and Maulana Azad

HETCHT e & ATYT aF Adr3it Hr ggdred Hi|
(a) AT 3o 3R arer MR faes

(b) 7Ig® 3R e

(c) gilehct 3ol 3R IMUTer 0T IMEer

(d) STATEAT ig® 3R HAET 3G

The following questions consist of two statements- Assertion (A) and Reason (R).
Answer these questions selecting the appropriate option given below:

(a) Both A and R are true and R is the correct explanation of A.

(b) Both A and R are true but R is not the correct explanation of A

(c) Ais correct but R is wrong.

(d) Ais wrong but R is correct.
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Assertion (A): The Printing press came to Goa with French missionaries in the mid-16"
century.
Reason (R): The Jesuit Priests learnt Konkani and printed several tracts.

fArafaf@a et & o vy § - AASYT (A) 3R FROT (R)|

J o 71T 3T RheT T T T 57 92T F 3N AT

(@) A 3R R g I § 3R R, A &7 TEr TACEIHT gl

(b) A 3R R aa @ § afhd R, A &7 TEY TISASROT AT gl

(c) A TEr g oifchad R 10 &

(d) A 31T & oifdheT R TET ©

fARYA (A): 16dT ordredr & AL H wrar AeEREr & @y fifder o aar
3ms ot

FROT (R): Sgse TERAT o Hishol A 3R w3 e sm|

Where was the first international Earth summit held?

(a) Rio de Janeiro (b) Geneva
(c) Switzerland (d) Philippines
Ugell ARSI gt R WFAer el rAfod R arar ar?
(a) R & IRy (YREGE
(c) FacsRdls C)REEIEIE]
The Buxa Tiger Reserve is situated in which of the following states?
(a) Madhya Pradesh (b) West Bengal
(c) Gujarat (d) Odisha
AT IR Norg HAeAfai@d # @ fhd U7 # Fua g2
(a) ALT geer (b) 9T¥aeT SaTTer
(c) I (d) 3nfaem

Choose the correctly matched pair about the main crop growing states of India from the
following options:

(@) Cotton — Meghalaya (b) Rubber — Garo hills of Meghalaya
(c) Wheat — Uttar Pradesh (d) Jute — Nicobar Islands
fArfaf@d [Aecdl & @ #RAT & &g BHA 3cUlesh Tl & aR & Tl Aol
arell SiIST o
(a) PN - AT (b) TR - AgrerT Fr IR ggIfAT
(c) I - IR g (d) S[¢ - PR cdiT "Hg

Under which of the following is power shared in the ‘community government’ of
Belgium?

(a) Different social groups (b)Different organs of Government

(c) Central and State Government (d) State and Community government

Sfeagd &1 AEHeR% WHR # FAT HT §earl HeAfai@d # & fhas ganr
farar e 87

(a) Tafeet F@SIe g (b) TIHR & TAfFesT 37aT

(c) Fg 3R [T TWHR (d) 5T IR FHERF TWHER
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9. | Which of the following is not the form of power sharing?
(a) Vertical division of power (b) Horizontal division of power
(c) Division of power between people (d) Division of power among
fArfafa & ¥ ®i9 a1 @ar & dcark T T AT 872
(a) TAT &7 FEareR faeme= (b) TaT &7 &fas TS
(c) <eTt & o Far & TSI (d) o@T & & FAT FT a8t
10. | When power is taken away from Central and State government and given to local
government, it is called:
(a) Centralisation (b) Decentralisation
(c) Panchayat Samiti (d) None of these
ST dg 3R ToT WHR A AFT A TUAT WHR & ¢ & S &, ar
39 FEd &
(a) shareToT (YREETIET
(c) garaa afAfa (d) 3TH & HIg =Ig0
11. | Which among the following statements about India’s constitution is wrong? It
(a) Prohibits discrimination on grounds of religion.
(b) Gives official status to one religion.
(c) Provides to all individuals freedom to profess any religion.
(d) Ensures equalities of citizens within religious communities.
AR & HiquT & IR A ArATalf@a & & &l a1 FY 7ad g2 Tg
(a) ¥ & TR W AGHTT &I AhdT ol
(b) T GH FI MAFRE AT & g
(c) T fFaar 1 frar off 937 &I AT HT TITIAT Y&l HLT gl
(d) emi#ier FHErEl & e AETRep! T FAAT AT FcTl gl
12. | Partly due to the efforts of reformers and partly due to other changes, caste
system in modern India has undergone great changes.
(a) Fundamental (b) Social
(c) Cultural (d) Professional
AP & § FURH & FArdl 3R 30w & § 307 gRacr &
FRUT, IMYfAR HRA H SNd JITAT H 3 dgolid 3T g
(a) HAifers (b) GTAT SIS
(c) FEHfaH (d) STETRAS
13. | What is not an integral part of the government?
(a) Office of the Prime Minister (b) Legislature
(c) Executive (d)Judiciary
TIHR T AT HoeT 39T T A6l g2
(a) TUTHHAT &7 HATAT (ORERIGEER]
(c) rdTToIHT (d) =aTaranfareT
14. | People feel that democracy is better as it promotes:
(a) Equality (b) Freedom
(c) Dignity (d) All of these

Page 4 of 11




SN I 91T & T AhdT S8l § FAiITh T§ d6Idl ST g:
(a) FATTAT (b) Tad=T
(c) aifkeT (d) ¥ Fafr

15.

The following questions consist of two statements- Assertion (A) and Reason (R).
Answer these questions selecting the appropriate option given below:
(a) Both A and R are true and R is the correct explanation of A.
(b) Both A and R are true but R is not the correct explanation of A
(c) Ais correct but R is wrong.
(d) A iswrong but R is correct.
Assertion (A): Democracies are based on political equality.
Reason (R): All individuals have equal weight in electing representatives.

frafaf@a gt & o dua §- 3FFaa (A) 3R FROT (R)|

S feu I1v 3T [Ahed FT TTT Flh o TAT & 3T GITolT;

(@) A 3R R g @ ¢ 3R R, A &I T TASCIHT g

(b) A 3R R alat @ § afhd R, A &7 T TISASROT AT gl

(c) A TE ¢ afhaT R a1 &1

(d) A T § ofeheT R TET gl

3fAFUT (A): Ahdd ToTeilicded FAATT R 3TRT ¢

@ROT (R): gfafAfedt & dema & @y safFaat &1 gAE Jgea gidr &

16.

Employment figures of a country are based on data collected from 5-yearly surveys on
employment and unemployment. Which organization conducts this survey?

(@) NSSO - National Sample Survey Organization.

(b) NREGA 2005- National Rural Employment Guarantee Act,2005

(c) ILO — International Labour Organization

(d) Census of India

Rl S & USHIR &3S WoR 3R RSN W 5-avig gdeqoi & vey
3Tehsl W IMEMRT 8id &1 HiT AT TITdT Tg FAGTUT FIdT &7

(@) NSSO - TS FAHAT FA&TOT HITSHT |

(b) AT 2005- ISET JTHVT AR RS 3ifafazeT, 2005

(c) ILO - 3RTSET &1 TISA

(d) HART Hr SAANUTAT|

17.

An agreement in which the lender supplies the borrower with money goods or services in
return for the promise of further payment refers to:

(a) Debt (b) Deposit

(c)Credit (d) Collateral

Teh FHSIAT fSHHA ROUETAT SURDAT T e I & dlg & deol # U,
AT AT {AW Y&l T &, dg [l h HGTd Hidr g

(a) T (b) StAT

(c) #oT (d) FIRSH

18.

Which of the following is an example of Collateral?
(@) Livestocks (b) Land
(c)Deposits with bank (d) All of these
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ffaf@a & & Fila a1 guidds a1 3T §2
(a) aerEr= (b) #fA

N

(c) S # ST (d) & @i

19.

The most common route for investments by MNCs in countries around the world is to:
(a) By closely competing with local companies.
(b) Buy existing local companies.
(c) Form partnerships with local companies.
(d) All of these.

gferam o) & e A Uy Hufadi ganrT e & v ded e e ¢
() TATAT HAIAT & AT FHar Giaeael aieh|

(@) HAISEr AT SHafral S @G|

(31) TUET FYFAAT & ATYT TSGR TATAT|

(7) I Tl

20.

Which of the following is an example of Trade Barrier?
(a) Tax on imports (b) Custom duty
(c)Transit Permits (d) All of these

Af@a & @ i I1 ANR 3790 T 3807 872
(a) I™TT W (b) TAT Yo
(c) ITETHA AT (d) I Tl

Section B: Very Short Answer Questions (2X4=8)

21.

Show how the silk routes are a good example of Pre-modern trade between different
countries of the world?

fe@m’ fon W AT g YR faed & fafdest oo & o qa-3meioie s
T Th o1 3STEI0T 872

22,

Explain any two features of Indian Agriculture.

HRAT Y & IS &l AAYAN T3]

23.

Explain the main reason for the alienation of Tamils in Sri Lanka.

Areiept # AT & 3elaa &1 F&I HROT A |

24,

What is the role of the judiciary in a federal system?

T SIGEAT H AT I T T 572

Section C: Short Answer Questions (3X5=15)

25,

Explain how print culture assisted the growth of nationalism in India.

SaTU foh &8 HOT AERIT o ORA & Usedic & b & TG |

26.

“Jute industry is concentrated in the Hooghly basin. “Validate the statement with three
suitable reasons.

“SIC 3T garell AffeT H higd g1 “cfiel HRUN & T HUA & AT H|

21.

Describe the three-fold distribution of legislative powers between the Union Government
and state government.

Fg R 3R T59 WaR & O Furh afdaat & B39y faxor & goie
I

28.

Explain the meaning of H.D.I. Explain three components of measuring H.D.l.

H.D.l. & 31 Tase &{| H.D.l. AT & AT gcehl T <ITEAT H|
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29.

“There is a need for protection and support for the workers in the unorganised sector.”
Evaluate this statement.

IS a1 & ATAR & AU et AR TASA H IHavIRdT §1” 58 FYA HT
Hodiehe Y|

Section D: Long Answer Questions (5X4=20)

30.

How did ideas of national unity in early nineteenth century Europe ally to the ideology of
liberalism? Explain.

SeAradl T BT YFATT H AT H [T Tohdl & TR 3eRare H faarurr
¥ &Y 33 ? Iredr H

31.

Why should we use renewable energy resources? Explain with arguments.

&H AU FST ATUAT T 3G FAT FAT AMRU? doh Algd AT |

32,

Explain the role of political parties in a democracy.

AlhcdT H ISTeidsh gal T RS TS |

33.

“Poor households still depend on informal sources of credit.” Support the statement with
examples.

"INT gRER 378 oY HoT & IATIIRE Fal W AR §1" 3eevr afgd HUA
FT GANT HL

Section E: Case Based Questions (4X3=12)

34,

Nationalism in India

Modern nationalism in Europe come to be associated with the formation of nation-states.
It also meant a change in people’s understanding of who they were and what defined their
identity and sense of belonging. New symbols and icons, new songs and ideas forged new
links and redefined the boundaries of communities. In most countries the making of this
new national identity was a long process. How did this consciousness emerge in India?

In India and as in many other colonies, the growth of modern nationalism is intimately
connected to the anti-colonial movement. People began discovering their unity in the
process of their struggle with colonialism. The sense of being oppressed under colonialism
provided a shared bond that tied many different groups together. But each class and group
felt the effects of colonialism differently, their experiences were varied and their notions
of freedom were not always the same. The Congress under Mahatma Gandhi tried to forge
these groups together within one movement. But the unity did not emerge without conflict.

Q. 1. What was people’s understanding of nation?

Q. 2. How was the growth of modern nationalism intimately connected to the anti-colonial
movement?

Q. 3. How did people in India develop a sense of collective belonging? Explain.

HRT H ISgare

QU # 3y Asgare AUl & fAATT & ST 30 &1 SHHT Hloldl T
o a1 fF SR 1 FHAsT A Scard 3T ff 7 &g & 3R 3907 uga 3R
AT HI HGAT FAT IRATNT FAT &1 AT Tdreh IR Tdiet, A Ifar iR
Rt & @T Gy §aU 3R FHeRT S dABT @ i @ gRenNa fan)
31Trepier 21T & 39 a5 TSI UgdTeT T fATOT Tk el Ufehar off| 9IRg & I
el HE 3ot §S7?
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AR # 3R *g 3= 3ulaelt 1 awg, MY Tseare #1 G 3ufaasrEne
faRIely 3iielesT @ aTeX$ @ S[ST g3 &1 Wi A 3ufAdwrEe & @Y 39 quy
d IfShdT A 39T Uehdl T Wi YE IR & UG & ded 3chNST glel
I HIEGAT  Teh HIST ST el fhar foreel &8 3feler-37eer THEl & T A1y
arer f&m| dAfehet Yedeh adt 3R HHg A 3UTAARIGEIG & THTGT sl 3eldT-37eldT g
O AgHE fondT, 3eTeh eTa IHOT-3elT ¥ 3N FaIar & IR H 3efehl YROMT
§AT Teh Sl SAgr ATl HEICAT M & AAced # HIH o ST WHGI A Teh
3ielelet & gl Tehole hiel T IR Y| ofehel Tehall HEW & T HHA g
S

el 1. ;S o IR H AN I qHST a1 2A1?

URe 2. 3Tfoeh Isgale 1 fdehrd 3ufademare O elels & fha g
giAss T § ST AT?

9 3. $IRA H o & FHRE AT T G 8 faRfddT gg? earear
hAT|

35.

RAINWATER HARVESTING

Many thought that given the disadvantages and rising resistance against the multi-purpose
projects, water harvesting system was a viable alternative, both socio-economically and
environmentally. In ancient India, along with the sophisticated hydraulic structures, there
existed an extraordinary tradition of water harvesting system. People had in-depth
knowledge of rainfall regimes and soil types and developed wide ranging techniques to
harvest rainwater, groundwater, river water and flood water in keeping with the local
ecological conditions and their water needs. In hill and mountainous regions, people built
diversion channels like the ‘guls’ or ‘kuls’ of the Western Himalayas for agriculture.
‘Rooftop rainwater harvesting’” was commonly practised to store drinking water,
particularly in Rajasthan. In the flood plains of Bengal, people developed inundation
channels to irrigate their fields. In arid and semi-arid regions, agricultural fields were
converted into rain fed storage structures that allowed the water to stand and moisten the
soil like the ‘Khadins’ in Jaisalmer and ‘Johads’ in other parts of Rajasthan.

Q. 1. Why is water harvesting system a viable alternative?
Q. 2. Describe the process of ‘rooftop rainwater harvesting’?
Q. 3. Mention any two methods adopted by ancient India for water conservation.

STel Sloled

g oelt o T fh ag3ec g RIS & FharE AR 3% [Warh ded
FTeRIE &1 ST U, STel Hadel Jumell HATforn-3nTder 3R gdieroiar et &
gisc ¥ Ueh e¥ag fashed 1 el #Rd H, GRS gleglicleh AT &
YA, ST HAeT YOS hT Teh HATUROT WRT Higlg oI ofteit s asf
aedT AR fATE & USRI & @ AT a7 3R 3egia TUET aikiTufas
feafaat 3k 3aht STer smaRasanstt #t wae & t@d gU vl S, #eTd, Ad
I 3R 9 I TIIT & [T 9% dohedles QAeiad il ggrer 3R gadiT
&l &, ol A HY & v gREHT BATCT & ‘Tl AT 'Fel' S SIS Woled
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U | AUV TS H Wit & 9T A FARd el & v AR W 'Sd
W U ST HAIeA' AT HFATH fRdT ST AT| 9Tl & §16 & HaeAr H, el o
U Wt &1 [Fars & AU Stefcardst deer f[deafdd fhu| goh 3R 3re-grsh
gt A, HY & Y gt MR HSROT XAt # gRafdd wy fear I,
oo gt ST & I 3R A F F7 R I Fqh, S ST H @I
3R Ty & 3w fREal 7 Sies

9T 1. ST GIAT YUTell Ueh cIdg fashed FAT §7

gesl 2. 'Bd U I Sfel HIeT I GfhdT ST Ul H{?

gesT 3. STl EX&TUT & foIU il $Rd aRT 39t 915 fohegl o et &
ool HI|

36.

DEVELOPMENT

A developed country is a highly industrial growth oriented country where quality of life
is high, presence of developed economy and advanced technology. While the developing
countries are those that are in either pre industrialization or in industrialization process.
These economies are mostly relies in agrarian form of economy and there per capita
income is generally less than the others. Another aspect of the developed countries are
their highly dominating tertiary and Quaternary Sector. While tertiary sector provides
services such as entertainment, finance and retailers quaternary sector comprises of
knowledge based activities like of Information technology, research and development as
well as areas of consulting services etc. There is no all-agreed definition of a developed
country.

Agencies such as the United Nations, the World Bank, the World Trade Organization, and
the World Economic Forum use their indicators to club developed and developing
countries. For example, the UN classifies countries into low, lower-middle, upper-middle,
and high-income countries. This classification is based on an individual country’s gross
national income (GNI) per capita. Low —Income Economy: GNI per capita of up to $1,085
Lower Middle-income: GNI per capita up to $4,255 Upper-Middle-income: GNI per
capita $13,205 High-Income economy: GNI per capita above $13,205.

Q1) What do you understand by the term per capita income?
Q2) What is the most important attribute to compare development of the countries?
Q3) Differentiate between development and growth?

fasra

T fAfld U U HcAfRw Meaifde faema 3eq@ dur § Siel Siae &
IuTadr 39 &, fahfld srdegaedr 3R Seota diegifarer & sufeufa g1 siefs
faeraehier Sor @ § S ar ar qa sfeefeor ar siteaefeer gfsar & €1 3
HIIEAT fUFR HY FereT rdfegawar W @R § 3R gl 9ia safed 3m
A AR W g & Joel & FA gl Ahfad ST &l Th 3T Tge] Selahl
HeIT®e T¥fcd arell Joirdeh 3R Tqeiae &7 g1 SIafh Jade &F Ao,
fad 3N e fashdmi Sl Fal yerel il B, Tqeige & #A gEer
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stefahy, srqaere X fawma & @r-ary @A qarst anfe & & Sl
mwﬂm?ﬁﬁﬁmanﬁm%lﬁmﬁ@raﬁrﬁéﬁwﬁwaﬁ
gl

qgFd Usg, faea o, faeg samaR Hotool 3R faea nfde #w S woifdan
farfla 3R fashraelier Ga & Tshoe ael & AT 310a Hehclehl T 39T
A 81 3eTeXoT & fav, dgFd weg o & e, Ae-aead, soa-avas
3R 3T I drel GAT # efichd AT &1 Fg gafioneor fohaly ger i ufd saferd
bl TSI T (SNTANS) X IR &1 Fed-3ma rdegaear: gyfa aied
SNTa13ms $1,085 o e Feg-3m: ShvaA3ns ufa afdd $4,255 ds F9d-
HALIH-3MT: SNUa13s 9fd safed $13,205 3TU-3T 3qcgaedr: SHuA3ms gfa
cafed $13,205 & IR

Q1) 9fad <IfeFd 31T & 39 FI7 AT 872

Q2) cxit & A HT Jolell A & TIU Fed Ageaqol faRIvar a1 g2

Q3) T 3R Fefr & & e qa?

Section F: Map Skilled Based Questions (1X5=5)

37.

(a) Two places i and ii are marked on the outline political map of India. Identify these
places with the help of following information and write their correct names on the lines
marked near them.
(1) The place where the Indian National Congress was held in 1927.
(ii) The place associated with the Jallianwala Bagh Incident.
(b) Locate the following on the given outline map of India.
(i) Tehri Dam.
(i) Durgapur —Iron and steel Plant.
(iii) Indira Gandhi International airport.

(37) AR & TRET Aol AT W al T | 3R 1l 3ifha &1 Aeafaf@a
STThRY T FETIAT § 57 TATT Y IgaTe 3 37 917 3ifhd @3t W 3%
ger aF ford|
(i) 9& AT SET 1927 H HRCAT IASET HIPF I AT g3 AT
(ii) SIferamarer aTeT #is & ST TU|
() RT & U v F@r Aoy W Feafaf@a a1 gfv|

(i) fegdr e

) GITR-olleT 3R sEura ||
(iii) SfeRT MmN IRTET gars 37537
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